Wireless Communications
Lecture 14

OFDM systems, YV; = H; X; + W, 0<:< N -—1.

[Channel Estimation]

Insert pilot tones, Xpilor(li), 0<i<L—1andl; = %z
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Estimate at pilot tones — IFFT in base L to get the time-domain channel
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[Frequency-domain interpolation]
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Frequency domain interpolation

Other simpler interpolations possible: linear quadratic,- - -

[Impact of mobility]
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Vi =

Define Hy/,, = % Zg;é Fiy(u)e /2™~

Need to mitigate ICL.
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Inter Carrier Interference

One possibility : Linear approximation of channel time - domain variations




